NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski

12-130 Pasym, Grom 36

tel.: (89) 621-64-40, 621-27-33

fax: (89) 621-64-41
PLACE ZABAW e-mail: eksport@novumgrom.com
www.novum4kids.com

ASSEMBLING INSTRUCTION

Elephant Slide

Cat. No.:1022EP (EPZ2)
Age range3-14 years




ASSEMBLY AND SERVICE INSTRUCTIONEIlephant Slide, Cat. No. 1022EP (EPZ) 2

Instruction made in accordance with PN-EN 1176-1 : 2009 point 6 and point 7, PN-EN 1176-3:2009, PN-EN
1177:2009

MATERIALS SPECIFICATION AND CONSTRUCTION DETAILS

GENERAL INFORMATIONS

Wooden elements are protected against the harifidt @f weather conditions by impregnation — @itsd
waxes with the required attests are used.

The sides of the slide and sides of the whole amgtmade of polyethylene plates (HDPE), which db
absorb water, are resistant to dents, scratchafitighnd UV radiation. Steel components suchrasne of
the slides are protected with polyester powdesstast to atmospheric conditions. Base of slidaadde of
stainless steel. All mild steel elements are hpt-dgalvanized before powder coatis
All materials and equipment have current certiBsaéind are certified according to the Europeardatas.

TOOLS REQUIRED FOR ASSEMBL

Suggested number of people:

1 Ratchet wrenc
2 | Socket 17 mt
3 | Socket 19 mt
4 Hamme
5 Measuring tape 5 m and/or 3(
6 | Spirit level 60 cr
7 | Spiritlevel 100 cr
8 | Spad
9 Rake
1C | Theprotective tap
11 Bit PZ2
12 | Screw drivi
13 Drill 7 mm
14 Path to transfer levels 2,E
15 | Strip for leveling pits in the ground 1,5- 2 pc

NOVUM Wyposazenie Placéw Zabaw Stawomir Chmieliski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-84- e-mail: eksport@novumgrom.com wwwavum4kids.com

no

1g.




ASSEMBLY AND SERVICE INSTRUCTIONElephant Slide, Cat. No. 1022EP (EPZ) 3

TOP VIEW OF THE SET AND SAFETY ZONE

) f
N
- T — N ‘
7 \ |
/
/ \ \
| - \ * ‘
| \O ﬁ
) i } ! \
\
/ \
N\
AN / ‘
~ - - y ‘
N Ve
~ S - - ;
Safety surface
Zone Max height of fall Area Perlmetze:n(;f safety
A 1,0 m 22,0 m2 18,0 m

Safety surface on the entire area with risk of fall can be made from the following material (the
thickness of surface has been chosen for appropriate height of fall from Table 4, BS EN 1176-
1:2009)

—Turf / top soil groomed,

—Sand fraction 0.2 + 2mm,

—Gravel aggregate fraction 2 + 8mm,
—Bark fraction 20 + 80mm,
—Sawdust fraction 5 + 30mm,

—Synthetic material conforming to EN 1177

NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41  e-mail: eksport@novumgrom.com www.novum4kids.com




ASSEMBLY AND SERVICE INSTRUCTIONEIlephant Slide, Cat. No. 1022EP (EPZ) 4
COMPONENTS OF THE SET
No. Name/Picture Cat. no./Description PCS
Screw with
1 mushroom head MlOXSgZ-ZONéSWM ) 6
M10x50
Screw with
2 mushroom head M10x9£(;)2-5(l)\lé87/M ) 2
M10x90
Screw with M10x60-PN-87/M -
3 mushroom head 82406 8
M10x60
Screw with M10x80-PN-87/M -
4 mushroom head 82406 16
M10x80
Screw with
5 mushroom head M6x30-PN-87/M -82406| 4
M6x30
Head screw with
6 hexagon socket- M12X7802_3PO'\12_87/M_ 2
M12xx70
M10 Hex nut with /‘\
7 rnon-metallic insert M10-PN-86/M-82175 32
standard
g | Round washer @10-PN-78/M-82005 | 32
M10
9 Flange nut ’ E15 M06 4
10 Flat cap 650452 36
11 Plug of cap a 650451 34
12 Anchor 1022/1-/4 4
13 Side 1022/5 2

NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41

e-mail: eksport@novumgrom.com

www.novumd4kids.com




ASSEMBLY AND SERVICE INSTRUCTIONE ephant Slide, Cat. No. 1022EP (EPZ) 5
14 Stairs f 1022/6 1
15 Slide \ 1022/7 1
16 Head q 1022/8 2
17 Pipe ——————————————— 1022/9 1

NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41  e-mail: eksport@novumgrom.com www.novum4kids.com




ASSEMBLY AND SERVICE INSTRUCTIONElephant Slide, Cat. No. 1022EP (EPZ) 6

PLACMENT OF EXCAVATIONS FOR FOUNDATIONS

PR _T - = h
y o a \
/ T R \
| ! SO}
| T o |
O O |
\
178—K =30 230 95— 180
~ vy /

© oo O \
O

[Xe]]
[eXe]]

e}

+0.00
SIS

-0.60

NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41  e-mail: eksport@novumgrom.com www.novum4kids.com




ASSEMBLY AND SERVICE INSTRUCTIONElephant Slide, Cat. No. 1022EP (EPZ)

ASSEMBLING STEP BY STEP

- - ™~
y ~
/ — - = = — -~
y ~
\
/ 1022/1 1022/2 \
\ 1022/3 1022/4 /
/
\ s
AN e -
~ ~
~ —
1
1022/1
1022/3 1022/2
1022/4
NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41  e-mail: eksport@novumgrom.com www.novum4kids.com




ASSEMBLY AND SERVICE INSTRUCTIONElephant Slide, Cat. No. 1022EP (EPZ) 8

1022/6

1022/5

M10x80-PN-87/M -82406

650452-1
?10-PN-78/M-82005

\K » M10-PN-86/M-82175

| C S 650451
<&

Q@Q’ M10x50-PN-87/M -82406

650452
?10-PN-78/M-82005

M10-PN-86/M-82175
650451

Q@Q’ M10x50-PN-87/M -82406

650452
210-PN-78/M-82005

M10-PN-86/M-82175
650451

Ve

M10x90-PN-87/M -82406

650452
?¥10-PN-78/M-82005
M10-PN-86/M-82175

650451

NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36

tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41

e-mail: eksport@novumgrom.com www.novum4kids.com




ASSEMBLY AND SERVICE INSTRUCTIONElephant Slide, Cat. No. 1022EP (EPZ) o)

M6x30-PN-86/M -82406

E15 M06

M10x60-PN-87/M -82406

@ \\D
650452 650451
M10-PN-86/M-82175
ax @10-PN-78/M-82005
1022/9 2x

650451

M12x70-PN-87/M-82302

d =220

650452

4x M10x60-PN-87/M -82406

il
650452 @\D
650451

M10-PN-86/M-82175
@10-PN-78/M-82005

NOVUM Wyposazenie Placow Zabaw Stawomir Chmielinski 12-130 Pasym, Grom 36
tel.: (89) 621-64-40, 621-27-33 fax: (89) 621-64-41  e-mail: eksport@novumgrom.com www.novum4kids.com




